ENCON GRAVITY FED EYEWASH
TRANSPORT/STATION ASSEMBLY INSTRUCTIONS

CONTENTS:
1. (1) BASE PLATE 7. (1) AXLE ASSEMBLY 13. (18) LOCKNUT 1/4-20
2.(2) LEG FRONT 8. (2) LOCKING CASTER 14. (4) WASHER 1/2" FLAT
3. (1) SUPPORT UPPER 9. (2) 8" WHEEL 15.(2) COTTER PIN
4.(2) LEG REAR 10.(4) BOLT 1/4-20 X 2-1/2 16. (2) AXLE CAP
5. (1) UPPER FRAME 11.(4) BOLT 1/4-20 X 1-1/2 17.(2) HAND GRIP
6. (2) SUPPORT LOWER 12.(10) BOLT 1/4-20 X 3/4 18. (1) DRAIN RECEPTACLE

ASSEMBLY:

1. ATTACH AXLE TO BASE PLATE WITH (4) 3/4" BOLTS AND LOCKNUTS
AS SHOWN ON EXPLODED SKETCH ON THE BACK OF THIS SHEET.

2. PLACE 1/2" WASHER, THEN 8" WHEEL, 1/2" WASHER, COTTER PIN
AND THEN AXLE CAP ON EACH END OF AXLE.

3. TAP CASTERS INTO SOCKETS ON BASE FRONT, BE CAREFUL NOT
TO DAMAGE WHEELS.

4. PUSH HANDGRIPS ONTO REAR LEGS
5. ATTACH UPPER SUPPORT TO UPPER FRAME WITH 1-1/2"LONG BOLTS.

6. ATTACH FRONT AND REAR LEGS AND LOWER SUPPORT TO UPPER SUPPORT
WITH 2-1/2"BOLTS.

7. CONNECT SUPPORT ASSEMBLY TO BASE WITH 3/4"BOLTS.

8. ATTACH EYEWASH J-HOOK (SUPPLIED WITH EYEWASH) TO UPPER SUPPORT
WITH 3/4"BOLTS. USE LOWEST MOUNTING HOLES FOR ENCON GRAVITY FED
EYEWASH, MIDDLE HOLES FOR HAWS OR SPEAKMAN,UPPER HOLES FOR FENDALL.

9. PLACE GRAVITY FED EYEWASH AND DRAIN RECEPTACLE ON CART AS SHOWN.

e

ENCON GRAVITY @
FED EYEWASH T~

P/N 01-1040-50

g
—F

BRKT. J-HOOK

== emorors
& e
-

i3
o Encon
P
713) 466-1449
DRAIN RECEPTACLE _— ( )

P/N 00-0150-03

ASSEMBLY INSTRUCTIONS
TRANSPORT/STATION GRAVITY FED EYEWASH
P/N01-1103-02 _\ TRANSPORT/STATION

b
4’7\ ( J—\ NOTE: SCALE = .08333

/ 01-9999-20




